Chapter 2
1- What Is?
        1- Excess Notation: used for shifting number by about half of the range of representation

        2- Signed Magnitude: Assign the most significant bit as a sign bit instead of a power of two. If 0 means positive and if 1 means negative. The additional and subtraction is complicated.

2- How to find:

        1- One's Complement: if positive do nothing and if positive reverse each bit

        2- Two complement: if positive do nothing and if negative reverse each bit, and add 1 to the result

        3- Two Complement to Decimal: if sign bit is 0 convert  binary to decimal If sign bit is 1 subtract 1 from binary, reverse each bit, convert binary to decimal, and put minus sign in front of decimal number.

 4- convert: 

       1- If a computer stores decimal integers values in 8 bits using excess 127 notations. What is the value that store -90 values?
          Solving
                    Stored number= actual number + excess notation

                                           = -90 + 127

                                           = 37
                                           = (100101)2

          2- The number in decimal if the binary number 01101010 in -128 binary excess notation

        Solving
                     1- Convert binary number to decimal number
                                     01101010 = 64 + 32 + 8 + 2

                                                     = 106 in excess -128

                     2- Find the actual value

                                    Actual value = stored number – excess notation

                                                         = 106 – 128
                                                         = -22
        3- One's complement of -84 decimal numbers
               Solving

                              1- Find binary number of 84 

                                       84 = 01010100

                              2- Reverse each bit to get one's complement

                                         84           = 01010100
                                        -84           = 10101011

    4- The Two's complement of -84 

            Solving

                         1- Find binary of original 84 value

                                   84 = 01010100

                         2- Reverse each bit to get one's complement

                                  -84 = 10101011

                         3- Add 1 to the result

                                        10101011

                                                              +

                                                    1

                                   10101100           two's complement

     5- The 8 bit number 11101010 in two's complement decimal

                    Solving

                                The sign bit her is 1 so:
                                   1- Subtract 1 from binary number

                                                         11101010

                                                                        -

                                                                      1

                                                         11101001

                                   2- Reverse each bit

                                                   00010110

                                  3- Convert to decimal 

                                          00010110= 16 + 4 + 2 = 22

                                  4- Put minus in front of decimal number


                                                             (-22)10
      6- Subtract 7 from 19 in 8 bits, 2's complement

                    Solving

                                1- Find binary of:

                                              19 = 10011

                                               7 = 00111 and get -7 = 11000
                                2- Subtract 19 from 7
                                         19 = 10011

                                                           -

                                           7 = 11000

                                                 101011

                               3- Ignore the last bit in the left and convert to decimal number

                                           01011 = (11)10
